t}e 72o]4 ADE AABC o 2Ao|1 A E = AD 9] & olc}.
ABDE 9] Yo]7} 7em? 9 o), AABC 2] Ho]&?

A
E
B l D i C
@ 14cm? @ 2lcm? ® 25cm?
@)28cm? ® 35cm?

BE 7} AABD 9] &4o]B 2 AABD = 2ABDE = 2x 7
14 (cm2) o],
AD 7} AABC & ZA4o]B 2 AABC = 24ABD = 2 x 14
28 (cmz) o]},




2. TS 1¥oA ADE AABC 9] F4olth. AACD 2] Wol7l 7em? ¥
o, AABC 2] Ho|=?

A
B f D f C
@ 12cm? @ 13cm? 3®)14cm?
@ 15cm? ® 16cm?

AD & AABC] 40|22 BCE o] 5&3it
T2kA AABC = 2AACD = 2 x 7 = 14 (cm?) o]t




AABC 9} ADEF = E-2H]71 4 e T golt}, AABC = 32cm?
olrulr

7
o W), ADEF 9] {o| 2 otut7| 13t

@ 72cm? @ 79cm? & gTem?

@ 93cm? ®)98cm?

B ‘

AABC ¢ ADEF 9] Ho]9] v]=

42:72=16:49
ADEF 9] Wo]E xcm? 2 5t
16 o 49 = 32 X

" x =98 cm?




Q

ALk o] T tfjZH4d o] Zo]
AC=BD =16,

Zrt.

rr

— 1 — 1
= — = — 16 =
PQ 2AC 2><6 8,

PS=SR=QR=38

4x8 =232

OPQRS = g ¥ do|7} 8 9l mERo|Er 89




5. o= I¥lM A G = sABC o #AFHCIH. DE//BC, DF // AC
. AB//EH € ©}, DE + DF + EH & vt24] 7¢ 317,

@ 24cm @25(:111 ® 26cm @ 27cm ® 28cm

B ~
AD:AB=DE:BC o|B2&

2:3=DE: 21, DE = 14 (cm)

BF:BC=DF:ACo|B&

1:3=DF: 18, DF = 6(cm)

CE:CA=FEH:ABo|EZ

1:3=EH: 15, EH=5(cm)
~DE+DF+EH=14+6+5=25(cm)




o3 24 G = aABC 9] FAFAHO]
th.AABC = 60cm?, DE //BC € u], ADGE
o] Wol& FstH?

1 1
AEGC = EAABC = 6 X 60 = 10(C1’I12)

DG:GC=1:2090]B=2
AEDG : AEGC =1:2,
AEDG :10=1:2,
.. AEDG = 5(cm?)




= 1™ lA4 oABCD

L BPARFol, A M, N 2 27 BC
D ©] Z7oth. aAPQ ] Wol7} 12em? & 1, DABCD ©] Yol

M f C
@ 48cm? @ 56cm? ® 64cm?
@ 68cm? ®)72cm?

B

AP, Q742 AABC, AADC 9] BAFAOIEZ AAPO =

éAABC, AAQO = %AADC o], AAPQ =

%(AABC aF

AADC) %DABCD o},

a4 mABCD = 62APQ = 72(cm?) ©] th




